A = 0 & AF & & A A

EXEs Y0 SAl A4 CER-E)
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
g+t 6,012,892 4,267,897 1,744,995
=2 55,000
Al 5,957,892
=2 &8t EA A4 4,674,313 2,789,171 1,885,142
= 55,000
Al 4,619,313
gl ASole &gt 8 4 412,963 479,671 A 66,708
= 55,000
Al 357,963
ZH AFE KX = 171,163 319,671 A 148,508
202 (4 Bl 1,800 2,000 A 200
01 2 LHO HI 1,800 2,000 A 200
O32x2 |X g2 =& 0l 1,800, 000& 1,800
203 Y =&l 9,400 9,400 0
03 Al =X 2= AH| 9,400 9,400 0
O3AFX |/ RFLA 9,400, 000& 9,400
301 LEtE2E M Z 9,963 8,271 1,692
08 AR =RRAB LS 9,963 8,271 1,692
o= 7,313,400& 7,314
OsAldl 1,848,000 1,848
(@FNE=:]| 800,800 801
308 AHXIEHHM S0l & 150,000 300,000 A 150,000
11 SI2SoHeZ&E 2 E AL I 150,000 300,000 A 150,000
OITX 2FAM KX &3 150,000, 000& 150,000
Old off & - &l RAHMEH 294 150,000 150,000 0
307 212tol & 150,000 150,000 0
02 QB HAMSEX 150,000 150,000 0
OcE oY - &t =4 HMEH 2Y 150,000, 000& 150,000
HYS TR Al O1Zet =4 9,300 10,000 A700
201 L Er2IH| 4,500 5,000 A 500
01 AFR2telbl 4,500 5,000 A 500
Ool 2t olZet X A& 4,500,000& 4,500
202 o4 Hl 1,800 2,000 A 200
01 =2 LHO BI 1,800 2,000 A 200
Ol 2t olZel XHP FHOH 1,800,000 1,800
203 Y =&l 3,000 3,000 0




PR AL WSS
£ M oHrEern
¥ oM BEAsS ¥ Al A (EHol: @)
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
03 Al®Z=2X R =] 3,000 3,000 0
Odig==4t20F HAFEH =2 3,000,000 3,000
N MAEZ=E WwsZZOH XA 82,500 0 82,500
= 55,000
Al 27,500
308 Xt Xl A S0l & 82,500 0 82,500
= 55,000
Al 27,500
01 AIXNSHBLEES 82,500 0 82,500
Ol MAEZ= neZ2 73 X& 82,500,000 82,500
= 55,000
Al 27,500
SOOI A & 4 SHALY 4,261,350 2,309,500 1,951,850
elEgr &M A5 UERZT 24 106,350 106,500 A 150
201 £ B2 Hl 6,350 6,500 A 150
01 AFR2teltl 1,350 1,500 A 150
ORo=2 WM& £ HS ¢ 1,350,000& 1,350
03 A2 S HI 5,000 5,000 0
Ooldg ¢ ASUHERIA 2¢ 5,000,000 5,000
308 XtXI A S0l & 100,000 100,000 0
M SIN2SoHet A E 2 E AL I 100,000 100,000 0
OQEIHMHLEH N 100,000, 000& 100,000
QIEXY &b g™ X& 4,155,000 2,203,000 1,952,000
308 AHXIEHHM S0l & 4,155,000 2,203,000 1,952,000
11 SI2S0HUHSZ&E S E A I 4,155,000 2,203,000 1,952,000
Oolde A Sotif= X diig 28 X
2,955,000, 000& 2,955,000
OAXNS gt 2dst 2dEE XA
1,200,000, 000& 1,200,000
ot 2RI =F 272,520 223,741 48,779
SFELs Jlgtx 4y 142,520 86,500 56,020
SRgdoExd 2 SHHAA 138,320 82,300 56,020
201 LEL2HHI 2,070 2,300 A 230
01 AtR2teldl 2,070 2,300 A 230
O=F8MAZ e /= 1,080,000& 1,080
OSFLUHUY &A 540,000& 540
OSsLEUY 4IHME S 450,000 450
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ALDEFH
off 28 & ot 1t
FYUYE HYTAl A& CERE
8- RA - BH - G(SH) - NSAY - By Ol &t o o H RS2
O=godaigesa a8 ol 1,800,000 1,800
HY2HZHI 45,749 41,787 3,962
=l (e ort) 45,749 41,787 3,962
A2l 45,749 41,787 3,962
201 £ B2 Hl 22,740 20,574 2,166
01 AFR2teltl 22,740 20,574 2,166
Ogt=2Hl 14,200, 000& 14,200
O=&t| 8,540,000& 8,540
202 o4 i 11,509 10,413 1,096
01 =AYl 11,509 10,413 1,096
OJleg® =& ol 11,509, 000& 11,509
203 PR =&Hl 10,800 10,800 0
01 JI 229 YR =l 6,600 6,600 0
o= 6,600, 000& 6,600
04 FA2IHFFAH 4,200 4,200 0
FA2IESRF=EH 350,000 x12& 4,200
405 RHatE SH| 700 0 700
01 XA 2SS HSHI 700 0 700
o1V 700,000 = 1CH 700
Bz (ohxaert) 936,510 959,198 A 22,688
fHAHX = 936,510 959,198 N 22,688
Ol dclzae 936,510 959,198 N 22,688
705 0l=2 &3 & 936,510 959,198 N 22,688
03 Al - EXIGIHEI U= S &E 900, 000 900, 000 0
OAN.& XNGHLINS tl==3 AS4E
900,000, 000& 900,000
04 Al - EXIGHLE IS0 +==0I RHAF & 36,510 59,198 A 22,688
OAlL& XML II2 0l=+=23 0lX&# 36,510,000 36,510






